

CONVERGENCE THEOREMS FOR ASYMPTOTICALLY PSEUDOCONTRACTIVE MAPS

M. O. OSILIKE¹ AND D. I. IGBOKWE

ABSTRACT. We prove that the results of Chang, Park and Cho in [1] concerning the iterative approximation of asymptotically pseudocontractive maps with bounded ranges can be extended to a certain class of asymptotically pseudocontractive maps whose ranges need not be bounded.

1. Introduction

Let E be an arbitrary real Banach space and let J denote the normalized duality mapping from E into 2^{E^*} given by

$$J(x) = \{f \in E^* : \langle x, f \rangle = \|x\|^2 = \|f\|^2\},$$

where E^* denotes the dual space of E and $\langle \cdot, \cdot \rangle$ denotes the generalized duality pairing. It is well known that if E^* is strictly convex then J is single-valued. In the sequel we shall denote single-valued normalized duality mapping by j .

Let K be a nonempty subset of E . A mapping $T : K \rightarrow K$ is called *asymptotically pseudocontractive* with sequence $\{k_n\} \subseteq [1, \infty)$, $\lim_{n \rightarrow \infty} k_n = 1$ (see e.g., [1], [9]) if for all $x, y \in K$, there exists $j(x - y) \in J(x - y)$ such that

$$(1) \quad \langle T^n x - T^n y, j(x - y) \rangle \leq k_n \|x - y\|^2$$

for all $n \in \mathbf{N}$. As shown in [9], this class of mapping is more general than the important class of asymptotically nonexpansive mappings (i.e., mappings $T : K \rightarrow K$ such that $\|T^n x - T^n y\| \leq k_n \|x - y\|$ for all $x, y \in K$, for some sequence $\{k_n\}$ with $\lim k_n = 1$ and for all $n \in \mathbf{N}$).

Received November 27, 2001.

2000 Mathematics Subject Classification: 47H09, 47J05.

Key words and phrases: fixed points, asymptotically pseudocontractive maps, modified Mann iteration and Ishikawa iteration methods (with errors).

¹ Regular Associate of the Abdus Salam ICTP, Trieste, Italy. Research Supported by a grant from TWAS (99-181 RG/MATHS/AF/AC).

T is called *uniformly L -Lipschitzian* if $\|T^n x - T^n y\| \leq L\|x - y\|$ for all $x, y \in K$, $n \in \mathbf{N}$ and for some $L > 0$.

The class of asymptotically pseudocontractive maps was introduced by Schu [9]. In [9], Schu also introduced the *modified Ishikawa iteration method* $\{x_n\}$ generated from an arbitrary $x_0 \in E$ by

$$\begin{aligned}x_{n+1} &= (1 - \alpha_n)x_n + \alpha_n T^n y_n, \quad n \geq 1, \\y_n &= (1 - \beta_n)x_n + \beta_n T^n x_n, \quad n \geq 1,\end{aligned}$$

where $\{\alpha_n\}$ and $\{\beta_n\}$ are real sequences in $[0, 1]$. If $\beta_n = 0$ for all n , then the above scheme reduces to the *modified Mann iteration method* also introduced by Schu in [9]. Using the modified Ishikawa iteration method, Schu [9] proved a strong convergence theorem for the iterative approximation of fixed points (when they exist) of asymptotically pseudocontractive maps in Hilbert spaces.

THEOREM CPC ([1], Theorem 2.1). *Let E be a real Banach space and let D be a nonempty closed convex subset of E . Let $T : D \rightarrow D$ be a uniformly L -Lipschitzian asymptotically pseudocontractive mapping with a Lipschitz constant $L \geq 1$, and a sequence $\{k_n\} \subseteq [1, \infty)$ such that $\lim_{n \rightarrow \infty} k_n = 1$. Let $\{\alpha_n\}$ and $\{\beta_n\}$ be two sequences in $[0, 1]$ satisfying the conditions*

- (i) $\lim_{n \rightarrow \infty} \alpha_n = \lim_{n \rightarrow \infty} \beta_n = 0$,
- (ii) $\sum_{n=0}^{\infty} \alpha_n = \infty$.

Let $\{x_n\}$ be the modified Ishikawa iteration method. If $F(T) := \{x \in D : Tx = x\} \neq \emptyset$, $T(D)$ is bounded and for any $q \in F(T)$, there exists a strictly increasing function $\phi : [0, \infty) \rightarrow [0, \infty)$ with $\phi(0) = 0$ such that

$$(2) \quad \langle T^n x_{n+1} - q, j(x_{n+1} - q) \rangle \leq k_n \|x_{n+1} - q\|^2 - \phi(\|x_{n+1} - q\|)$$

for all $n \geq 1$, where $j(x_{n+1} - q) \in J(x_{n+1} - q)$ is such that

$$\langle T^n x_{n+1} - T^n q, j(x_{n+1} - q) \rangle \leq k_n \|x_{n+1} - q\|^2 \text{ for all } n \geq 1,$$

then the sequence $\{x_n\}$ converges strongly to the fixed point q of T .

The assumption that $T(D)$ is bounded in Theorem CPC appears restrictive since it is not satisfied by many nonexpansive mappings and even many strict contraction maps.

It is our purpose in this paper to complement Theorem CPC by dropping the condition that $T(D)$ is bounded. We impose the condition that $\sum_{n=1}^{\infty} (k_n - 1) < \infty$ which is used in the original result of Schu [9], and which has been used by several authors (see for example [2],

[5-11]). It is clear that the condition $\sum_{n=1}^{\infty} (k_n - 1) < \infty$ is satisfied by all nonexpansive maps. Our results readily show that if T has a bounded range, then the condition $\sum_{n=1}^{\infty} (k_n - 1) < \infty$ could be dropped. Our proof is short and of independent interest since the convergence of both the modified Mann and Ishikawa iteration methods with errors in the sense of Xu [13] and Liu [4] are obtained from the convergence of a simple perturbed modified Mann iteration method.

2. Main results

LEMMA 1. Let E be a real Banach space and let $T : E \rightarrow E$ be a uniformly L -Lipschitzian asymptotically pseudocontractive mapping with a nonempty fixed point set $F(T)$ and a sequence $\{k_n\} \subseteq [1, \infty)$, $\sum_{n=1}^{\infty} (k_n - 1) < \infty$. Let $\{\alpha_n\}$ be a real sequence satisfying the conditions

- (i) $0 < \alpha_n < 1$ for all $n \geq 1$,
- (ii) $\sum_{n=1}^{\infty} \alpha_n = \infty$,
- (iii) $\sum_{n=1}^{\infty} \alpha_n^2 < \infty$.

Let $\{x_n\}$ be the sequence generated from an arbitrary $x_1 \in E$ by

$$(3) \quad x_{n+1} = (1 - \alpha_n)x_n + \alpha_n T^n x_n + u_n, \quad n \geq 1,$$

where $\{u_n\} \subseteq E$ is such that

$$\|u_n\| \leq \rho_n + \gamma_n \|x_n - p\|$$

for some $p \in F(T)$ and the sequences $\{\rho_n\}$ and $\{\gamma_n\}$ are such that $\sum_{n=1}^{\infty} \rho_n < \infty$ and $\sum_{n=1}^{\infty} \gamma_n < \infty$. If there exists a strictly increasing function $\phi : [0, \infty) \rightarrow [0, \infty)$ with $\phi(0) = 0$ such that

$$(4) \quad \langle T^n x_{n+1} - p, j(x_{n+1} - p) \rangle \leq k_n \|x_{n+1} - p\|^2 - \phi(\|x_{n+1} - p\|),$$

then $\{x_n\}$ converges strongly to p .

Proof. It follows from (4) that

$$\begin{aligned} & \langle (I - T^n)x_{n+1} - (I - T^n)p, j(x_{n+1} - p) \rangle \\ & \geq \phi(\|x_{n+1} - p\|) - (k_n - 1)\|x_{n+1} - p\|^2 \\ & \geq \frac{\phi(\|x_{n+1} - p\|)\|x_{n+1} - p\|^2}{1 + \phi(\|x_{n+1} - p\|) + \|x_{n+1} - p\|^2} - (k_n - 1)\|x_{n+1} - p\|^2 \\ & = r(x_{n+1}, p)\|x_{n+1} - p\|^2, \end{aligned}$$

where $r(x_{n+1}, p) = \frac{\phi(\|x_{n+1} - p\|)}{1 + \phi(\|x_{n+1} - p\|) + \|x_{n+1} - p\|^2} - (k_n - 1)$. Thus

$$\langle (I - T^n)x_{n+1} - r_n(x_{n+1}, p)x_{n+1} - [(I - T^n)p - r(x_{n+1}, p)p], j(x_{n+1} - p) \rangle \geq 0$$

so that from Lemma 1 of Kato [3]

$$(5) \quad \|x_{n+1} - p\| \leq \|x_{n+1} - p + \lambda\{(I - T^n)x_{n+1} - r_n(x_{n+1}, p)x_{n+1} - [(I - T^n)p - r(x_{n+1}, p)p]\}\|$$

for all $\lambda > 0$. From (3) we obtain

$$\begin{aligned} x_n &= (1 + \alpha_n)x_{n+1} + \alpha_n[(I - T^n)x_{n+1} - r(x_{n+1}, p)x_{n+1}] \\ &\quad - (1 - r(x_{n+1}, p))\alpha_n x_n + (2 - r(x_{n+1}, p))\alpha_n^2(x_n - T^n x_n) \\ &\quad + \alpha_n(T^n x_{n+1} - T^n x_n) - [1 + (2 - r(x_{n+1}, p))\alpha_n]u_n. \end{aligned}$$

Furthermore,

$$p = (1 + \alpha_n)p + \alpha_n[(I - T^n)p - r(x_{n+1}, p)p] - (1 - r(x_{n+1}, p))\alpha_n p,$$

so that

$$\begin{aligned} x_n - p &= (1 + \alpha_n)(x_{n+1} - p) \\ &\quad + \alpha_n \left[(I - T^n)x_{n+1} - r(x_{n+1}, p)x_{n+1} - ((I - T^n)p - r(x_{n+1}, p)p) \right] \\ &\quad - (1 - r(x_{n+1}, p))\alpha_n(x_n - p) \\ &\quad + (2 - r(x_{n+1}, p))\alpha_n^2(x_n - T^n x_n) + \alpha_n(T^n x_{n+1} - T^n x_n) \\ &\quad - [1 + (2 - r(x_{n+1}, p))\alpha_n]u_n. \end{aligned}$$

Hence

$$\begin{aligned} \|x_n - p\| &\geq (1 + \alpha_n) \left\| x_{n+1} - p + \frac{\alpha_n}{(1 + \alpha_n)} \left[(I - T^n)x_{n+1} - r(x_{n+1}, p)x_{n+1} - ((I - T^n)p - r(x_{n+1}, p)p) \right] \right\| \\ &\quad - (1 - r(x_{n+1}, p))\alpha_n \|x_n - p\| \\ &\quad - (2 - r(x_{n+1}, p))\alpha_n^2 \|x_n - T^n x_n\| \\ &\quad - \alpha_n \|T^n x_{n+1} - T^n x_n\| - [1 + (2 - r(x_{n+1}, p))\alpha_n] \|u_n\| \\ &\geq (1 + \alpha_n) \|x_{n+1} - p\| - (1 - r(x_{n+1}, p))\alpha_n \|x_n - p\| \\ &\quad - (2 - r(x_{n+1}, p))\alpha_n^2 \|x_n - T^n x_n\| - \alpha_n \|T^n x_{n+1} - T^n x_n\| \\ &\quad - [1 + (2 - r(x_{n+1}, p))\alpha_n] \|u_n\|, \quad (\text{using (5)}). \end{aligned}$$

Hence

$$\begin{aligned} \|x_{n+1} - p\| &\leq \frac{[1 + (1 - r(x_{n+1}, p))\alpha_n]}{(1 + \alpha_n)} \|x_n - p\| + 2\alpha_n^2 \|x_n - T^n x_n\| \\ &\quad + \alpha_n \|T^n x_{n+1} - T^n x_n\| + [1 + (2 - r(x_{n+1}, p))\alpha_n] \|u_n\| \\ &\leq [1 + (1 - r(x_{n+1}, p))\alpha_n] [1 - \alpha_n + \alpha_n^2] \|x_n - p\| \\ &\quad + 2\alpha_n^2 \|x_n - T^n x_n\| + \alpha_n \|T^n x_{n+1} - T^n x_n\| + 3\|u_n\| \\ &\leq [1 - r(x_{n+1}, p)\alpha_n + \alpha_n^2] \|x_n - p\| + 2\alpha_n^2 \|x_n - T^n x_n\| \\ &\quad + \alpha_n \|T^n x_{n+1} - T^n x_n\| + 3\|u_n\|. \end{aligned}$$

Observe that $\|x_n - T^n x_n\| \leq (1 + L)\|x_n - p\|$ and

$$\begin{aligned} &\|T^n x_{n+1} - T^n x_n\| \\ &\leq L(1 + L)\alpha_n \|x_n - p\| + L\|u_n\| \\ &\leq [L(1 + L)\alpha_n + L\gamma_n] \|x_n - p\| + L\rho_n, \end{aligned}$$

so that

$$\begin{aligned} (6) \quad &\|x_{n+1} - p\| \\ &\leq [1 + \alpha_n(k_n - 1) + \alpha_n^2(1 + 2(1 + L) + L(1 + L)) + L\alpha_n\gamma_n] \|x_n - p\| \\ &\quad - \left[\frac{\phi(\|x_{n+1} - p\|)\alpha_n}{1 + \phi(\|x_{n+1} - p\|) + \|x_{n+1} - p\|^2} \right] \|x_n - p\| + L\alpha_n\rho_n + 3\|u_n\| \\ &\leq [1 + \alpha_n(k_n - 1) + \alpha_n^2(1 + 2(1 + L) + L(1 + L)) \\ &\quad + L\alpha_n\gamma_n + 3\gamma_n] \|x_n - p\| \\ &\quad - \left[\frac{\phi(\|x_{n+1} - p\|)\alpha_n}{1 + \phi(\|x_{n+1} - p\|) + \|x_{n+1} - p\|^2} \right] \|x_n - p\| + L\rho_n + 3\rho_n \\ &= [1 + \delta_n] \|x_n - p\| \\ &\quad - \left[\frac{\phi(\|x_{n+1} - p\|)\alpha_n}{1 + \phi(\|x_{n+1} - p\|) + \|x_{n+1} - p\|^2} \right] \|x_n - p\| + (3 + L)\rho_n, \end{aligned}$$

where $\delta_n = \alpha_n(k_n - 1) + \alpha_n^2(1 + 2(1 + L) + L(1 + L)) + (L\alpha_n + 3)\gamma_n$. Observe that condition (iii) implies that $\sum_{n=1}^{\infty} \delta_n < \infty$. Since $\sum_{n=1}^{\infty} \rho_n < \infty$, it follows from (6) that $\{\|x_n - p\|\}$ is bounded. Let $\|x_n - p\| \leq D$ for all $n \geq 1$. Then it follows from (6) that

$$\|x_{n+1} - p\| \leq \|x_n - p\| + D\delta_n + (3 + L)\rho_n = \|x_n - p\| + \lambda_n,$$

where $\lambda_n = D\delta_n + (3 + L)\rho_n$. Since $\sum_{n=0}^{\infty} \lambda_n < \infty$, it follows from Lemma 1 of [12] that $\lim_{n \rightarrow \infty} \|x_n - p\|$ exists. Let $\lim_{n \rightarrow \infty} \|x_n - p\| = \delta \geq 0$. We prove

that $\delta = 0$. Assume that $\delta > 0$. Then there exists a positive integer N_0 such that $\|x_n - p\| \geq \frac{\delta}{2}$ for all $n \geq N_0$. Since

$$\begin{aligned} & \frac{\phi(\|x_{n+1} - p\|)}{1 + \phi(\|x_{n+1} - p\|) + \|x_{n+1} - p\|^2} \|x_n - p\| \\ & \geq \frac{\phi(\frac{\delta}{2})\delta}{2(1 + \phi(D) + D^2)} \text{ for all } n \geq N_0, \end{aligned}$$

it follows from (6) that

$$\|x_{n+1} - p\| \leq \|x_n - p\| - \frac{\phi(\frac{\delta}{2})\delta}{2(1 + \phi(D) + D^2)} \alpha_n + \lambda_n \text{ for all } n \geq N_0.$$

Hence

$$\frac{\phi(\frac{\delta}{2})\delta}{2(1 + \phi(D) + D^2)} \alpha_n \leq \|x_n - p\| - \|x_{n+1} - p\| + \lambda_n \text{ for all } n \geq N_0.$$

This implies that

$$\frac{\phi(\frac{\delta}{2})\delta}{2(1 + \phi(D) + D^2)} \sum_{j=N_0}^n \alpha_j \leq \|x_{N_0} - p\| + \sum_{j=N_0}^n \lambda_j \leq \|x_{N_0} - p\| + \sum_{j=0}^{\infty} \lambda_j,$$

so that $\sum_{n=0}^{\infty} \alpha_n < \infty$, contradicting condition (ii). Hence $\lim \|x_n - p\| = 0$, completing the proof of Lemma 1. \square

REMARK 1. If T has bounded range, then the condition $\sum_{n=1}^{\infty} (k_n - 1) < \infty$ can be dropped, and the condition $\sum_{n=1}^{\infty} \alpha_n^2 < \infty$ can be replaced by the condition $\lim_{n \rightarrow \infty} \alpha_n = 0$. To see this set $M := \sup\{\|T^n x_n - p\| : n \geq 1\} + \|x_1 - p\|$. Then it follows by a simple induction that

$$\|x_n - p\| \leq \prod_{j=1}^{n-1} (1 + \gamma_j) \left[M + \sum_{j=1}^{n-1} \rho_j \right], \quad n \geq 2,$$

so that $\|x_n - p\| \leq D$ for all $n \geq 1$ and for some $D > 0$. It now follows from (6) that

$$\begin{aligned} \|x_{n+1} - p\| & \leq \|x_n - p\| - \frac{\phi(\|x_{n+1} - p\|)\alpha_n}{1 + \phi(\|x_{n+1} - p\|) + \|x_{n+1} - p\|^2} \|x_n - p\| \\ & \quad + D\alpha_n[(k_n - 1) + \alpha_n(1 + 2(1 + L) + L(1 + L))] \\ & \quad + (L\alpha_n + 3)D\gamma_n + (3 + L)\rho_n \\ & = \|x_n - p\| - \frac{\phi(\|x_{n+1} - p\|)\alpha_n}{1 + \phi(\|x_{n+1} - p\|) + \|x_{n+1} - p\|^2} \|x_n - p\| \\ & \quad + \alpha_n \lambda_n + \sigma_n, \end{aligned}$$

where $\lambda_n = D[(k_n - 1) + \alpha_n(1 + 2(1 + L) + L(1 + L))]$ and $\sigma_n = (L\alpha_n + 3)D\gamma_n + (3 + L)\rho_n$. Since $\lim_{n \rightarrow \infty} \lambda_n = 0$ and $\sum_{n=1}^{\infty} \sigma_n < \infty$, it now follows from a standard argument that $\lim_{n \rightarrow \infty} \|x_n - p\| = 0$. It is clear that if $\|X_n - p\|$ is assumed bounded, then the condition $\gamma_n = 0(\alpha_n)$ could also be used in place of $\sum_{n=1}^{\infty} \gamma_n < \infty$.

2.1. Convergence of the modified Mann and Ishikawa iteration methods with errors in the sense of Xu [13]

THEOREM 1. *Let E be a real Banach space and K a nonempty closed convex subset of E . Let $T : K \rightarrow K$ be a uniformly L -Lipschitzian asymptotically pseudocontractive mapping with $F(T) \neq \emptyset$, and a sequence $\{k_n\} \subseteq [1, \infty)$ such that $\sum_{n=1}^{\infty} (k_n - 1) < \infty$. Let $\{a_n\}$, $\{b_n\}$, $\{c_n\}$, $\{a'_n\}$, $\{b'_n\}$, $\{c'_n\}$ be sequences in $[0, 1]$ such that*

- (i) $a_n + b_n + c_n = a'_n + b'_n + c'_n = 1$,
- (ii) $\sum_{n=1}^{\infty} b_n = \infty$,
- (iii) $\sum_{n=1}^{\infty} b_n^2 < \infty$, $\sum_{n=1}^{\infty} b'_n < \infty$, $\sum_{n=1}^{\infty} c_n < \infty$, $\sum_{n=1}^{\infty} c'_n < \infty$.

Let $\{x_n\}$ be the sequence generated from an arbitrary $x_1 \in K$ by

$$\begin{aligned} x_{n+1} &= a_n x_n + b_n T^n y_n + c_n u_n, \quad n \geq 1, \\ y_n &= a'_n x_n + b'_n T^n x_n + c'_n v_n, \quad n \geq 1, \end{aligned}$$

where $\{u_n\}$ and $\{v_n\}$ are bounded sequences in K . If there exists a strictly increasing function $\phi : [0, \infty) \rightarrow [0, \infty)$ with $\phi(0) = 0$ such that

$$\langle T^n x_{n+1} - p, j(x_{n+1} - p) \rangle \leq k_n \|x_{n+1} - p\|^2 - \phi(\|x_{n+1} - p\|)$$

for some $p \in F(T)$, then $\{x_n\}$ converges strongly to p .

Proof. Set $\alpha_n = b_n + c_n$, $\beta_n = b'_n + c'_n$. Then

$$\begin{aligned} x_{n+1} &= (1 - \alpha_n)x_n + \alpha_n T^n y_n + c_n(u_n - T^n y_n), \quad n \geq 1, \\ y_n &= (1 - \beta_n)x_n + \beta_n T^n x_n + c'_n(v_n - T^n x_n), \quad n \geq 1. \end{aligned}$$

Observe that

$$x_{n+1} = (1 - \alpha_n)x_n + \alpha_n T^n x_n + u'_n,$$

where $u'_n = \alpha_n(T^n y_n - T^n x_n) + c_n(u_n - T^n y_n)$. Furthermore,

$$\|y_n - p\| \leq (1 - \beta_n)\|x_n - p\| + \beta_n L\|x_n - p\| + c'_n\|v_n - p\| + c'_n L\|x_n - p\|,$$

so that

$$\begin{aligned} \|u'_n\| &\leq [\alpha_n\beta_nL(1+L) + L^2c'_n\alpha_n]\|x_n - p\| + Lc'_n\alpha_n\|v_n - p\| \\ &\quad + c_n\|u_n - p\| + c_nL\|y_n - p\| \\ &\leq [\alpha_n\beta_nL(1+L) + L(1+L)c_n + L^2c'_n\alpha_n + c_nc'_nL^2]\|x_n - p\| \\ &\quad + c_n\|u_n - p\| + [c_nc'_nL + Lc'_n\alpha_n]\|v_n - p\| \\ &= \gamma_n\|x_n - p\| + \rho_n, \end{aligned}$$

where $\gamma_n = \alpha_n\beta_nL(1+L) + L(1+L)c_n + L^2c'_n\alpha_n + c_nc'_nL^2$ and $\rho_n = c_n\|u_n - p\| + [Lc_nc'_n + L\alpha_nc'_n]\|v_n - p\|$. Since $\sum_{n=1}^\infty \gamma_n < \infty$ and $\sum_{n=1}^\infty \rho_n < \infty$, it follows from our Lemma that $\{x_n\}$ converges strongly to p . \square

COROLLARY 1. *Let E be a real Banach space and K a nonempty closed convex subset of E . Let $T : K \rightarrow K$ be a uniformly L -Lipschitzian asymptotically pseudocontractive mapping with $F(T) \neq \emptyset$, $T(K)$ bounded and with a sequence $\{k_n\} \subseteq [1, \infty)$ such that $\lim_{n \rightarrow \infty} k_n = 1$. Let $\{a_n\}$, $\{b_n\}$, $\{c_n\}$, $\{a'_n\}$, $\{b'_n\}$, $\{c'_n\}$ be sequences in $[0, 1]$ such that*

- (i) $a_n + b_n + c_n = a'_n + b'_n + c'_n = 1$,
- (ii) $\sum_{n=1}^\infty b_n = \infty$,
- (iii) $\lim_{n \rightarrow \infty} b_n = \lim_{n \rightarrow \infty} b'_n = \lim_{n \rightarrow \infty} c'_n = 0$,
- (iv) $\sum_{n=1}^\infty c_n < \infty$.

Let $\{x_n\}$ be the sequence generated from an arbitrary $x_1 \in K$ by

$$\begin{aligned} x_{n+1} &= a_nx_n + b_nT^n y_n + c_nu_n, \quad n \geq 1, \\ y_n &= a'_nx_n + b'_nT^n x_n + c'_nv_n, \quad n \geq 1, \end{aligned}$$

where $\{u_n\}$ and $\{v_n\}$ are bounded sequences in K . If there exists a strictly increasing function $\phi : [0, \infty) \rightarrow [0, \infty)$ with $\phi(0) = 0$ such that

$$\langle T^n x_{n+1} - p, j(x_{n+1} - p) \rangle \leq k_n\|x_{n+1} - p\|^2 - \phi(\|x_{n+1} - p\|)$$

for some $p \in F(T)$, then $\{x_n\}$ converges strongly to p .

Proof. Using Remark 1, the proof follows as in the proof of Theorem 1. \square

REMARK 2. Theorem 2.1 of [1] is a special case of Corollary 1 for which $b_n = \alpha_n$, $a_n = 1 - \alpha_n$, $c_n = 0$, $b'_n = \beta_n$, $a'_n = 1 - \beta_n$.

2.2. Convergence of the modified Mann and Ishikawa iteration methods with errors in the sense of Liu [4]

THEOREM 2. *Let E be a real Banach space and let $T : E \rightarrow E$ be a uniformly L -Lipschitzian asymptotically pseudocontractive mapping with $F(T) \neq \emptyset$ and a sequence $\{k_n\}$ such that $\sum_{n=1}^{\infty} (k_n - 1) < \infty$. Let $\{\alpha_n\}$ and $\{\beta_n\}$ be sequences satisfying the conditions*

- (i) $0 < \alpha_n, \beta_n < 1, n \geq 1,$
- (ii) $\sum_{n=1}^{\infty} \alpha_n = \infty,$
- (iii) $\sum_{n=1}^{\infty} \alpha_n^2 < \infty,$
- (iv) $\sum_{n=1}^{\infty} \alpha_n \beta_n < \infty.$

Let $\{u_n\}$ and $\{v_n\}$ be sequences in E satisfying the conditions $\sum_{n=1}^{\infty} \|u_n\| < \infty$ and $\sum_{n=1}^{\infty} \|v_n\| < \infty$. Let $\{x_n\}$ be the sequence generated from an arbitrary $x_1 \in K$ by

$$\begin{aligned} y_n &= (1 - \beta_n)x_n + \beta_n T^n x_n + u_n, \quad n \geq 1, \\ x_{n+1} &= (1 - \alpha_n)x_n + \alpha_n T^n y_n + v_n \quad n \geq 1. \end{aligned}$$

If there exists a strictly increasing function $\phi : [0, \infty) \rightarrow [0, \infty)$ with $\phi(0) = 0$ such that

$$\langle T^n x_{n+1} - p, j(x_{n+1} - p) \rangle \leq k_n \|x_{n+1} - p\|^2 - \phi(\|x_{n+1} - p\|)$$

for some $p \in F(T)$, then $\{x_n\}$ converges strongly to p .

Proof. Observe that

$$x_{n+1} = (1 - \alpha_n)x_n + \alpha_n T^n x_n + u'_n,$$

where $u'_n = \alpha_n(T^n y_n - T^n x_n) + v_n$. Furthermore, $\|u'_n\| \leq \alpha_n \beta_n L(1 + L)\|x_n - p\| + \alpha_n L\|u_n\| + \|v_n\| = \gamma_n \|x_n - p\| + \rho_n$, where $\gamma_n = \alpha_n \beta_n L(1 + L)$ and $\rho_n = \alpha_n L\|u_n\| + \|v_n\|$. Since $\sum_{n=1}^{\infty} \gamma_n < \infty$ and $\sum_{n=1}^{\infty} \rho_n < \infty$, it follows from our Lemma that $\{x_n\}$ converges strongly to p . \square

COROLLARY 2. *Let E be a real Banach space and let $T : E \rightarrow E$ be a uniformly L -Lipschitzian asymptotically pseudocontractive mapping with $F(T) \neq \emptyset$, a sequence $\{k_n\} \subseteq [1, \infty)$, $\lim_{n \rightarrow \infty} k_n = 1$ and a bounded range. Let $\{\alpha_n\}$ and $\{\beta_n\}$ be sequences satisfying the conditions*

- (i) $0 < \alpha_n, \beta_n < 1, n \geq 1,$
- (ii) $\sum_{n=1}^{\infty} \alpha_n = \infty,$
- (iii) $\lim_{n \rightarrow \infty} \alpha_n = \lim_{n \rightarrow \infty} \beta_n = 0.$

Let $\{u_n\}$ and $\{v_n\}$ be sequences in E satisfying the conditions $\lim_{n \rightarrow \infty} \|u_n\| = 0$ and $\sum_{n=1}^{\infty} \|v_n\| < \infty$. Let $\{x_n\}$ be the sequence generated from an arbitrary $x_1 \in K$ by

$$\begin{aligned} y_n &= (1 - \beta_n)x_n + \beta_n T^n x_n + u_n, \quad n \geq 1, \\ x_{n+1} &= (1 - \alpha_n)x_n + \alpha_n T^n y_n + v_n, \quad n \geq 1. \end{aligned}$$

If there exists a strictly increasing function $\phi : [0, \infty) \rightarrow [0, \infty)$ with $\phi(0) = 0$ such that

$$\langle T^n x_{n+1} - p, j(x_{n+1} - p) \rangle \leq k_n \|x_{n+1} - p\|^2 - \phi(\|x_{n+1} - p\|)$$

for some $p \in F(T)$, then $\{x_n\}$ converges strongly to p .

Proof. Using Remark 1, the proof follows as in the proof of Theorem 2. \square

REMARK 3. Theorem 2.1 of [1] is a special case of Corollary 2 for which $u_n = v_n = 0$ for all $n \geq 1$.

References

- [1] S. S. Chang, J. Y. Park, and Y. J. Cho, *Iterative approximations of fixed points of asymptotically nonexpansive mappings in Banach spaces*, Bull. Korean Math. Soc. **37** (2000), no. 1, 109–119.
- [2] Z. Huang, *Mann and Ishikawa iterations with errors for asymptotically nonexpansive mappings*, Computers and Math. Applic. **37** (1999), 1–7.
- [3] T. Kato, *Nonlinear semigroups and evolution equations*, J. Math. Soc. Japan **19** (1967), 508–520.
- [4] L. S. Liu, *Ishikawa and Mann iterative processes with errors for nonlinear strongly accretive mappings in Banach spaces*, J. Math. Anal. Appl. **194** (1995), 114–125.
- [5] M. O. Osilike, *Iterative approximations of fixed points of asymptotically demicontractive mappings*, Indian J. Pure Appl. Math. **29** (1998), no. 12, 1291–1300.
- [6] M. O. Osilike and S. C. Aniagbosor, *Weak and strong convergence theorems for fixed points of asymptotically nonexpansive mappings*, J. Mathematical and Computer Modelling **32** (2000), 1181–1191.
- [7] L. Qihou, *Convergence theorems of the sequence of iterates for asymptotically demicontractive and hemicontractive mappings*, Nonlinear Analysis **26** (1996), no. 11, 1835–1842.
- [8] B. E. Rhoades, *Fixed point iteration for certain nonlinear mappings*, J. Math. Anal. Appl. **183** (1994), 118–120.
- [9] J. Schu, *Iterative construction of fixed points of asymptotically nonexpansive mappings*, J. Math. Anal. Appl. **158** (1991), 407–413.
- [10] ———, *Weak and strong convergence of fixed points of asymptotically nonexpansive mappings*, Bull. Austral. Math. Soc. **43** (1991), 153–159.

- [11] K-K. Tan and H-K. Xu, *Fixed point iteration processes for asymptotically non-expansive mappings*, Proc. Amer. Math. Soc. **122** (1994), no. 3, 733–739.
- [12] ———, *Approximating fixed point of nonexpansive mappings by the Ishikawa iteration process*, J. Math. Anal. Appl. **178** (1993), 301–308.
- [13] Y. Xu, *Ishikawa and Mann iterative methods with errors for nonlinear accretive operator equations*, J. Math. Anal. Appl. **224** (1998), 91–101.

M. O. OSILIKE, DEPARTMENT OF MATHEMATICS, UNIVERSITY OF NIGERIA, NSUKKA, NIGERIA

E-mail: epseelon@aol.com

D. I. IGBOKWE, DEPARTMENT OF MATHEMATICS, UNIVERSITY OF UYO, UYO, NIGERIA

E-mail: epseelon@aol.com